




















Consider octa ta octa

of tax tax c a

X t 2am at

Completing the square makes use of this

identity
Suppose y It 6 14

y x 35 14 9

x 3 sets T x 35 5
12 6 9

I 5

1

Sketch graph shows a line of symmetry
at a 3 and a minimum point at C 3,5

Ex2 y x 10 21

y x 5.5 21 25

s ex si a

Min point 5 a

Completing the Square



Ex's y 5 8

y x ET 8 245

µy x E5 E z i
4

y se E t I i

th
Min point 52

Exercise
y It 8 5

iii Iii
Min point 4 Il

Line of symmetry so 4

2 y I 2 5

y x l 15 I d l
z

y x c ta

Mia point 1,4
Line of symmetry x I



Solving Quadratic Equs by Completing the Square

Ext 22 2 8 0

x l 8 1 0

sett 9 0

Kt 15 9

Xt I I3

X I3 l

x t 3 1 or x 3 I

c z x 4

Ex2 Solve 5 6 0

x E Z G E O4

x ET 2 o

x ET Ef o

x ET 4

Take sqroots X E IZ
K IZ TE

K tztI or x Z E
x 6 x I



Exercise
a K2 6 8 0

x 3 t 8 9 0

se 3
Z

I 0

sa 3 I

x 3 I l
x It 7

X It 3 or a I 3

x 4 x 2

2 I 4 5 0

x z t 5 a 0

x c 2
2 E o

25 9
2 I 3

x I3 Z

X 1 3 Z or X 3 Z

x l x 5

3 I 7 8 0

x Z 8 49 0
4

Cc Zf 4,1 0



x ZT 8 o

x zf E
4

x Z IE
Z

X 9ztI or x Iz Iz
x Lb x Z

Z Z

8 xSC


